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FP1 Paper F — Marking Guide

xy x(2-x)

1 area = % . a6* do Ml
=3d[56° 17 Al
giving %a2n3 MI AL (4
-1 2 2 _3y—
e o R R ) MI Al
(x+3)(x-6) .
) >( .. critical values are —4, -3, 6 M1 Al
considering change of sign of factors gives
—4<x<-3 o0orx>6 M1 A2 (7)
3. (@  f(0)=3;f(1)=-1;
f cont. over interval, change of sign .. root MI Al
b)) a=0+ %XIZOJS M1 Al
, 4 3x —7x +3
(c) £7(x) = 15x" = 14x, X1 =X, — ——F—"—— M1 Al
15x, —14x,
giving f~—0.623 (3dp) Al @)
4, (a) x=rcos@, y=rsind
o (P cos® 6 + 7 sin® 8)? = a*(* cos® @ — i sin® 6) MI Al
[*(cos® @ + sin® 0)]* = a*r*(cos® @ — sin’ ) Ml
¥ =d’” cos 20 giving ¥ =a’ cos 20 Al
_ 3n _ =
) 0= 0= 7
o a =0
5. @ Y-dde_ 1 du Ml
dx du dx u’ dx
_ldw 1 x M1
u® dx xXu u?
du 1 x=0 Al
dx X
J‘ildx 7lnM 1
() int.fac.=e” * =e¢ ' =_ M1 Al
X
Ldu _w—
x dx X
4y Ml
dx x
L= -1dr=-x+c Al
X
L= e Al
xy
x=1y=1 rc=2 Ml
L =2 giving y= ! Al (10)
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2n 2n n

(@) Z FZZZ rz—z P Ml
r=n+l r=1 r=1
= +@n)2n+D)@n+1) — ta(n+1)(2n+1) Al
= tn2n+ D[2@n+1) - (n+1)] M1
= Ln@n+1)(Tn+1) Al
in2n+1)(7n+1
@) Lus= £"CmD0nFD)  Tn+l MI Al
Ln(n+1)(2n+1) n+l
:7n+7—6:7_ 6 Ml
n+l n+l
nzl; n+122 .. O<i <3 .'.4S7—i <7 as required M1 A2 (10)
n+1 n+1
(@) aux.eqn. 2m*—5m—3=0 Ml
@m+1)(m-3)=0; m=-1,3 CF.x=4de™ +Be" Al
forP.I.try x=psint+gqcost Ml
dx _ . d*x _ .
— =pcost—qgsint, —— = —psint—qgcost M1 Al
dt dr?
—2psin t — 2gcos t — Spcos t + 5¢gsin t — 3psin ¢t — 3gcos ¢t = 20sin ¢ Ml
—5p+ 5¢ =20
~5p—5¢=0 Al
giving p=-2,9=2 M1 Al
x=Ae +Be¥—2sint+2cost Al
(b)) xfiniteast —>oo . B=0 M1 Al
t=0,x=5 . 5=4-0+2 giving 4=3 M1
" x=3e ¥ —2sin¢+2cost Al (14)
e 1+ 20 .
@ a3 M Al
() modz;=1; argz; =7 B2
V2 1+ .
© a=iixi =R+ M1 AL
modzy= 2 x2=1 Al
argz,=tan 1+ =% Al
@ Im(z) 4
Zl+22
:Zz B3
0 Re(2)
arg (zy +z)= L(2+ Z)=32 M1 Al
atn=it Lari=2 1+ 2 Bl
1+4
tan 3 = 2 _2eV2 MI AL  (16)
EN
Total (75)
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Performance Record — FP1 Paper F

Question no. 1 2 3 4 5 6 7 8 Total
- - - - 5 - nd
Toni polar inequality | numerical | polar 1* order series 2"%order | complex
op C(S) coords methods coords diff. eqn diff. eqn | nos.
Marks 4 7 7 7 10 10 14 16 75

Student
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